



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{3} =$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{2}{5}\right)^{(-2)} - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{1}{3}\right)^{(-1)} + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{2}{5} =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{2}{5}\right)^{(-1)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^{(-1)} + \left(-\frac{1}{6}\right) =$$



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{3} = \left(-\frac{5}{3}\right) = \left(-1\frac{2}{3}\right)$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{3}{4}\right) = \frac{103}{4} = 25\frac{3}{4}$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{5} = \frac{14}{25}$$

$$\left(\frac{2}{5}\right)^{(-2)} - \left(-\frac{1}{4}\right) = \frac{13}{2} = 6\frac{1}{2}$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{4} = \frac{5}{16}$$

$$\left(\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{2}\right) = \frac{9}{2} = 4\frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{4}\right) = \frac{1}{2}$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \left(-\frac{1}{6}\right) = \left(-\frac{3}{2}\right) = \left(-1\frac{1}{2}\right)$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{27}{80}\right)$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{2}\right) = \frac{17}{16} = 1\frac{1}{16}$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{23}{50}\right)$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{4} = \frac{29}{100}$$

$$\left(\frac{1}{3}\right)^{(-1)} + \left(-\frac{2}{5}\right) = \frac{13}{5} = 2\frac{3}{5}$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{3}{10}\right)$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{3}{4}\right) = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{61}{100}$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{2}{5} = \left(-\frac{8}{5}\right) = \left(-1\frac{3}{5}\right)$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{5}{36}\right)$$

$$\left(-\frac{2}{5}\right)^{(-1)} - \left(-\frac{1}{2}\right) = (-2)$$

$$\left(\frac{2}{5}\right)^{(-1)} + \left(-\frac{1}{6}\right) = \frac{7}{3} = 2\frac{1}{3}$$